
Sample Data

ImageBiopsy Knee Osteoarthritis Report (2 Knees)

 <?xml version="1.0" encoding="UTF-8"?>
<Analysis>
    <AnalysisBase>
        <AnalysisID>1.2.40.0.38.3.30.108183846880594736312732444485434477121</AnalysisID>
        <Date>20190220124910.885000</Date>
        <device>
            <name>development</name>
            <version>development</version>
            <component>
                <name>ias-library</name>
                <version/>
            </component>
            <component>
                <name>ias-server-v2</name>
                <version/>
            </component>
        </device>
        <module>
            <name>com.imagebiopsy.koala.modules.hl.KOALA</name>
            <algorithm>
                <id>802</id>
                <name>Unknown802</name>
                <version>100</version>
            </algorithm>
        </module>
    </AnalysisBase>
    <DICOM>
        <DCM0028>
            <BitsAllocated>16</BitsAllocated>
            <BitsStored>12</BitsStored>
            <SamplesPerPixel>1</SamplesPerPixel>
            <HighBit>11</HighBit>
            <PhotometricInterpretation>MONOCHROME2</PhotometricInterpretation>
            <Rows>2688</Rows>
            <Columns>2688</Columns>
            <WindowCenter>2048</WindowCenter>
            <WindowWidth>4096</WindowWidth>
        </DCM0028>
        <DCM0018>
            <BodyPartExamined>KNEE</BodyPartExamined>
            <ViewPosition>AP</ViewPosition>
            <ProtocolName>KNEE AP</ProtocolName>
            <SoftwareVersions>2.12.0.22</SoftwareVersions>
        </DCM0018>
        <DCM0008>
            <ImageType>DERIVED</ImageType>
            <SOPInstanceUID>1.2.826.0.1.3680043.8.1055.1.2019012210130327.397929570.20935980</SOPInstanceUID>
            <ManufacturerModelName>CXDI Control Software NE</ManufacturerModelName>
            <SOPClassUID>1.2.840.10008.5.1.4.1.1.1.1</SOPClassUID>
            <StudyDate>20160826</StudyDate>
            <SeriesDescription>KNEE AP</SeriesDescription>
            <StudyDescription>Knee 2 Views Left</StudyDescription>
            <StudyTime>113925</StudyTime>
            <Modality>DX</Modality>
            <Manufacturer>Canon Inc.</Manufacturer>
        </DCM0008>
        <DCM2050>
            <PresentationLUTShape>IDENTITY</PresentationLUTShape>
        </DCM2050>
        <DCM0040>
            <PerformedProcedureStepID>104360</PerformedProcedureStepID>
        </DCM0040>
        <DCM0020>
            <PatientOrientation>L</PatientOrientation>
            <StudyInstanceUID>1.2.826.0.1.3680043.8.1055.1.2019012210130329.264179895.70285352<



/StudyInstanceUID>
            <SeriesInstanceUID>1.2.826.0.1.3680043.8.1055.1.2019012210130329.514290312.15122970<
/SeriesInstanceUID>
            <StudyID>1</StudyID>
            <SeriesNumber>1</SeriesNumber>
            <ImageLaterality>U</ImageLaterality>
        </DCM0020>
        <DCM0010>
            <PatientName>Anonymized^^</PatientName>
            <PatientID>0</PatientID>
            <PatientSex>M</PatientSex>
        </DCM0010>
    </DICOM>
    <Region>
        <type>1</type>
        <id>0</id>
        <BoundingBox>
            <coordinates>172.000 907.000 1328.000 2063.000</coordinates>
            <BBoxQuality>10</BBoxQuality>
            <algorithm>
                <id>104</id>
                <name>Unknown104</name>
                <version>100</version>
            </algorithm>
        </BoundingBox>
        <MeasurementBoard>
            <id>JSx</id>
            <LMs>
                <active>
                    <coordinates>479.000 1521.000 1039.000 1503.000</coordinates>
                </active>
                <origin>
                    <coordinates>479.000 1521.000 1039.000 1503.000</coordinates>
                </origin>
                <algorithm>
                    <id>9001</id>
                    <name>Unknown9001</name>
                    <version>100</version>
                </algorithm>
                <MaskDirection>1</MaskDirection>
                <lm-distance>89.646274</lm-distance>
                <lm-ref-distance>80.000000</lm-ref-distance>
            </LMs>
            <JSx>
                <id>0</id>
                <location>LAT</location>
                <JSW>
                    <id>0</id>
                    <coordinates>528.771 1481.305 528.771 1523.305</coordinates>
                    <isMin>false</isMin>
                    <value>6.720000000000001</value>
                    <value-standardized>5.996903</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>1</id>
                    <coordinates>563.771 1484.305 563.771 1524.305</coordinates>
                    <isMin>true</isMin>
                    <value>6.4</value>
                    <value-standardized>5.711336</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>



                    <id>2</id>
                    <coordinates>597.771 1482.305 597.771 1526.305</coordinates>
                    <isMin>false</isMin>
                    <value>7.04</value>
                    <value-standardized>6.282470</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>3</id>
                    <coordinates>631.771 1475.305 631.771 1526.305</coordinates>
                    <isMin>false</isMin>
                    <value>8.16</value>
                    <value-standardized>7.281954</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSA>
                    <type>area</type>
                    <value>114.63680000000001</value>
                    <algorithm>
                        <id>302</id>
                        <name>Unknown302</name>
                        <version>100</version>
                    </algorithm>
                </JSA>
                <JSA>
                    <type>arearel</type>
                    <value>0.2379889455782313</value>
                </JSA>
                <JSA>
                    <type>areabox</type>
                    <value>481.6896</value>
                </JSA>
                <JSA>
                    <type>areadist</type>
                    <value>0.500810825924062</value>
                </JSA>
                <contour>
                    <id>1</id>
                    <coordinates>528.771 1481.305 563.771 1484.305 597.771 1482.305 631.771 1475.305<
/coordinates>
                    <type>1</type>
                </contour>
                <contour>
                    <id>3</id>
                    <coordinates>528.771 1523.305 563.771 1524.305 597.771 1526.305 631.771 1526.305<
/coordinates>
                    <type>3</type>
                </contour>
            </JSx>
            <JSx>
                <id>1</id>
                <location>MED</location>
                <JSW>
                    <id>0</id>
                    <coordinates>886.171 1469.785 886.171 1512.785</coordinates>
                    <isMin>false</isMin>
                    <value>6.88</value>
                    <value-standardized>6.139686</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>



                </JSW>
                <JSW>
                    <id>1</id>
                    <coordinates>920.171 1470.785 920.171 1514.785</coordinates>
                    <isMin>false</isMin>
                    <value>7.04</value>
                    <value-standardized>6.282470</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>2</id>
                    <coordinates>954.171 1472.785 954.171 1514.785</coordinates>
                    <isMin>true</isMin>
                    <value>6.720000000000001</value>
                    <value-standardized>5.996903</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>3</id>
                    <coordinates>989.171 1469.785 989.171 1514.785</coordinates>
                    <isMin>false</isMin>
                    <value>7.2</value>
                    <value-standardized>6.425253</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSA>
                    <type>area</type>
                    <value>114.26559999999999</value>
                    <algorithm>
                        <id>302</id>
                        <name>Unknown302</name>
                        <version>100</version>
                    </algorithm>
                </JSA>
                <JSA>
                    <type>arearel</type>
                    <value>0.23721832482993196</value>
                </JSA>
                <JSA>
                    <type>areabox</type>
                    <value>481.6896</value>
                </JSA>
                <JSA>
                    <type>areadist</type>
                    <value>0.499189174075938</value>
                </JSA>
                <contour>
                    <id>1</id>
                    <coordinates>886.171 1469.785 920.171 1470.785 954.171 1472.785 989.171 1469.785<
/coordinates>
                    <type>1</type>
                </contour>
                <contour>
                    <id>3</id>
                    <coordinates>886.171 1512.785 920.171 1514.785 954.171 1514.785 989.171 1514.785<
/coordinates>
                    <type>3</type>
                </contour>
            </JSx>



        </MeasurementBoard>
        <ScoreBoard>
            <id>KL</id>
            <score>
                <id>SCT_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.987 0.011 0.002 0.000</probabilities>
            </score>
            <score>
                <id>SCF_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.672 0.302 0.025 0.000</probabilities>
            </score>
            <score>
                <id>JSN_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>



                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.877 0.117 0.004 0.002</probabilities>
            </score>
            <score>
                <id>OPF_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.811 0.158 0.027 0.004</probabilities>
            </score>
            <score>
                <id>jsn</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>



                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
            <score>
                <id>grading</id>
                <min>0</min>
                <max>4</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>210</id>
                        <name>Unknown210</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>210</id>
                        <name>Unknown210</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>210</id>
                    <name>Unknown210</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.753 0.222 0.025 0.000 0.000</probabilities>
            </score>
            <score>
                <id>OPT_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.985 0.015 0.000 0.000</probabilities>
            </score>
            <score>



                <id>sclerosis</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
            <score>
                <id>OPF_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.969 0.027 0.004 0.001</probabilities>
            </score>
            <score>
                <id>SCT_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>



                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.683 0.292 0.024 0.001</probabilities>
            </score>
            <score>
                <id>JSN_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.961 0.036 0.002 0.001</probabilities>
            </score>
            <score>
                <id>SCF_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>



                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.986 0.012 0.002 0.000</probabilities>
            </score>
            <score>
                <id>OPT_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.985 0.014 0.000 0.000</probabilities>
            </score>
            <score>
                <id>osteophytes</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
        </ScoreBoard>
    </Region>
    <Region>
        <type>1</type>
        <id>1</id>
        <BoundingBox>



            <coordinates>1400.000 871.000 2556.000 2027.000</coordinates>
            <BBoxQuality>10</BBoxQuality>
            <algorithm>
                <id>104</id>
                <name>Unknown104</name>
                <version>100</version>
            </algorithm>
        </BoundingBox>
        <MeasurementBoard>
            <id>JSx</id>
            <LMs>
                <active>
                    <coordinates>1653.000 1467.000 2249.000 1467.000</coordinates>
                </active>
                <origin>
                    <coordinates>1653.000 1467.000 2249.000 1467.000</coordinates>
                </origin>
                <algorithm>
                    <id>9001</id>
                    <name>Unknown9001</name>
                    <version>100</version>
                </algorithm>
                <MaskDirection>2</MaskDirection>
                <lm-distance>95.360000</lm-distance>
                <lm-ref-distance>80.000000</lm-ref-distance>
            </LMs>
            <JSx>
                <id>0</id>
                <location>MED</location>
                <JSW>
                    <id>0</id>
                    <coordinates>1705.680 1453.760 1705.680 1482.760</coordinates>
                    <isMin>false</isMin>
                    <value>4.640000000000001</value>
                    <value-standardized>3.892617</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>1</id>
                    <coordinates>1742.680 1456.760 1742.680 1484.760</coordinates>
                    <isMin>true</isMin>
                    <value>4.4799999999999995</value>
                    <value-standardized>3.758389</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>2</id>
                    <coordinates>1779.680 1451.760 1779.680 1482.760</coordinates>
                    <isMin>false</isMin>
                    <value>4.96</value>
                    <value-standardized>4.161074</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>3</id>
                    <coordinates>1815.680 1447.760 1815.680 1480.760</coordinates>
                    <isMin>false</isMin>
                    <value>5.28</value>
                    <value-standardized>4.429530</value-standardized>



                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSA>
                    <type>area</type>
                    <value>84.42880000000001</value>
                    <algorithm>
                        <id>302</id>
                        <name>Unknown302</name>
                        <version>100</version>
                    </algorithm>
                </JSA>
                <JSA>
                    <type>arearel</type>
                    <value>0.15569823434991978</value>
                </JSA>
                <JSA>
                    <type>areabox</type>
                    <value>542.2592</value>
                </JSA>
                <JSA>
                    <type>areadist</type>
                    <value>0.41765339074273417</value>
                </JSA>
                <contour>
                    <id>1</id>
                    <coordinates>1705.680 1453.760 1742.680 1456.760 1779.680 1451.760 1815.680 1447.760<
/coordinates>
                    <type>1</type>
                </contour>
                <contour>
                    <id>3</id>
                    <coordinates>1705.680 1482.760 1742.680 1484.760 1779.680 1482.760 1815.680 1480.760<
/coordinates>
                    <type>3</type>
                </contour>
            </JSx>
            <JSx>
                <id>1</id>
                <location>LAT</location>
                <JSW>
                    <id>0</id>
                    <coordinates>2086.120 1429.760 2086.120 1477.760</coordinates>
                    <isMin>false</isMin>
                    <value>7.680000000000001</value>
                    <value-standardized>6.442953</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>1</id>
                    <coordinates>2122.120 1438.760 2122.120 1480.760</coordinates>
                    <isMin>false</isMin>
                    <value>6.720000000000001</value>
                    <value-standardized>5.637584</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>2</id>
                    <coordinates>2159.120 1442.760 2159.120 1482.760</coordinates>
                    <isMin>false</isMin>



                    <value>6.4</value>
                    <value-standardized>5.369128</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSW>
                    <id>3</id>
                    <coordinates>2196.120 1443.760 2196.120 1482.760</coordinates>
                    <isMin>true</isMin>
                    <value>6.24</value>
                    <value-standardized>5.234899</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                <JSA>
                    <type>area</type>
                    <value>117.7216</value>
                    <algorithm>
                        <id>302</id>
                        <name>Unknown302</name>
                        <version>100</version>
                    </algorithm>
                </JSA>
                <JSA>
                    <type>arearel</type>
                    <value>0.21709470304975922</value>
                </JSA>
                <JSA>
                    <type>areabox</type>
                    <value>542.2592</value>
                </JSA>
                <JSA>
                    <type>areadist</type>
                    <value>0.5823466092572659</value>
                </JSA>
                <contour>
                    <id>1</id>
                    <coordinates>2086.120 1429.760 2122.120 1438.760 2159.120 1442.760 2196.120 1443.760<
/coordinates>
                    <type>1</type>
                </contour>
                <contour>
                    <id>3</id>
                    <coordinates>2086.120 1477.760 2122.120 1480.760 2159.120 1482.760 2196.120 1482.760<
/coordinates>
                    <type>3</type>
                </contour>
            </JSx>
        </MeasurementBoard>
        <ScoreBoard>
            <id>KL</id>
            <score>
                <id>SCT_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>



                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.874 0.111 0.014 0.001</probabilities>
            </score>
            <score>
                <id>SCF_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.004 0.023 0.417 0.556</probabilities>
            </score>
            <score>
                <id>JSN_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>



                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.687 0.281 0.021 0.011</probabilities>
            </score>
            <score>
                <id>OPF_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.005 0.012 0.091 0.892</probabilities>
            </score>
            <score>
                <id>jsn</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>2</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>2</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
            <score>
                <id>grading</id>
                <min>0</min>
                <max>4</max>
                <active>
                    <value>3</value>
                    <algorithm>



                        <id>210</id>
                        <name>Unknown210</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>210</id>
                        <name>Unknown210</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>210</id>
                    <name>Unknown210</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.000 0.000 0.017 0.937 0.046</probabilities>
            </score>
            <score>
                <id>OPT_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.120 0.059 0.263 0.558</probabilities>
            </score>
            <score>
                <id>sclerosis</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>



                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
            <score>
                <id>OPF_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.135 0.200 0.281 0.383</probabilities>
            </score>
            <score>
                <id>SCT_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.002 0.018 0.429 0.551</probabilities>
            </score>



            <score>
                <id>JSN_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>2</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </active>
                <origin>
                    <value>2</value>
                    <algorithm>
                        <id>206</id>
                        <name>Unknown206</name>
                        <version>101</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>206</id>
                    <name>Unknown206</name>
                    <version>101</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.007 0.219 0.762 0.013</probabilities>
            </score>
            <score>
                <id>SCF_LAT</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>0</value>
                    <algorithm>
                        <id>207</id>
                        <name>Unknown207</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>207</id>
                    <name>Unknown207</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.847 0.138 0.014 0.000</probabilities>
            </score>
            <score>
                <id>OPT_MED</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>



                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.004 0.007 0.113 0.877</probabilities>
            </score>
            <score>
                <id>osteophytes</id>
                <min>0</min>
                <max>3</max>
                <active>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </active>
                <origin>
                    <value>3</value>
                    <algorithm>
                        <id>208</id>
                        <name>Unknown208</name>
                        <version>100</version>
                    </algorithm>
                </origin>
                <algorithm>
                    <id>208</id>
                    <name>Unknown208</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
            </score>
        </ScoreBoard>
    </Region>
</Analysis>

 



 

 

 

Concept Data
KL Grade



         <ScoreBoard>
            <id>KL</id>
                        <score>...</score>
                        <score>...</score>
                        <score>...</score>
                        <score>...</score>
                        ...
            <score>
                <id>grading</id>
                <min>0</min>
                <max>4</max>
                <active>
                    <value>3</value>
                 ...
                </active>
                <origin>
                    <value>3</value>
                   ...
                </origin>
                <algorithm>
                    <id>210</id>
                    <name>Unknown210</name>
                    <version>100</version>
                </algorithm>
                <valid>false</valid>
                <modified>false</modified>
                <modifiable>true</modifiable>
                <probabilities>0.000 0.000 0.017 0.937 0.046<
/probabilities>
            </score>
 
        </ScoreBoard>

Joint Space Width



...           
                        <JSx>
                <id>1</id>
                <location>LAT</location>
                <JSW>
                    <id>0</id>
                    <coordinates>2086.120 1429.760 2086.120 1477.760<
/coordinates>
                    <isMin>false</isMin>
                    <value>7.680000000000001</value>
                    <value-standardized>6.442953</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
                                <JSW>...</JSW>
                                ...
                                <JSW>...</JSW>
                <JSW>
                    <id>3</id>
                    <coordinates>2196.120 1443.760 2196.120 1482.760<
/coordinates>
                    <isMin>true</isMin>
                    <value>6.24</value>
                    <value-standardized>5.234899</value-standardized>
                    <algorithm>
                        <id>301</id>
                        <name>Unknown301</name>
                        <version>100</version>
                    </algorithm>
                </JSW>
...

Bounding Box

 

    <Region>
        <type>1</type>
        <id>1</id>
        <BoundingBox>
            <coordinates>1400.000 871.000 2556.000 2027.000</coordinates>
            <BBoxQuality>10</BBoxQuality>
            <algorithm>
                <id>104</id>
                <name>Unknown104</name>
                <version>100</version>
            </algorithm>
        </BoundingBox>
...

Landmarks

 



        <MeasurementBoard>
            <id>JSx</id>
            <LMs>
                <active>
                    <coordinates>1653.000 1467.000 2249.000 1467.000<
/coordinates>
                </active>
                <origin>
                    <coordinates>1653.000 1467.000 2249.000 1467.000<
/coordinates>
                </origin>
                <algorithm>
                    <id>9001</id>
                    <name>Unknown9001</name>
                    <version>100</version>
                </algorithm>
                <MaskDirection>2</MaskDirection>
                <lm-distance>95.360000</lm-distance>
                <lm-ref-distance>80.000000</lm-ref-distance>
            </LMs>
...


	Sample Data

